


4800-3
-

HI open until Monday.

Permutations :
G)= Els -- - ,n3

Every permutation of Cn )
has a sign

£

sgnG) = #o-o
- icj J - i

= ¥¥iI
ITCj



Rink: As we range over

all pairs { is 53 ,
×

the plans Creil, reps
also range over all pains
( but maybe in "

wrong
" order )

⇒ IT If- il-ITKEI-rc.it
-

Iii -51 Irritant
⇒ sgnk)=± I
-



Examine: A
"

I +1
f- 2

19
a 2
3 2

- t t

I - 2
.

3-2
.

3 - I
*⇐ ⇐
t t

=

t

241, rats
' IN



Property (composited)

I> I permutations
=) sgnfo-j-sgnk.sg.de)

PI :
*

'

I
←

I

sgnkozt-ITTKGD-oke.it
-

I

=tEE⇒it:
g-

i
.

Sgt) Sauce)
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Fact : Exactly half
the permutations of Ln )
are every .

Fact: The even permutation,
are closed under composition
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Let C be a category
• objects
• functors(morphisms .

Let X. Y be objects
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